C. Y. Yeung (AL Chemistry)


Quiz on “Covalent Bonding” (Ch. 8-9)
Name: _________________
Class: ________ (   )

Date: __________

Suggested Solution

1.
tetrahedral

2.
Trigonal planar
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Int for the fact that the carbon-oxygen bond lengths in CO, CO, and CO,>are 0.
129 nm respectively. .

- - -
CcCEO-/ C L0
bond corder = 3/the bond formed between C & O_is triple

It is the shortest.
o=c=0/ CiCi0

bond order = 2/the bond formed between C & O is double
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It is a resonance hvbrid of the following:
e @ 5

_o/ \\o 'O/ \O- O/) \O"

nd order = 1%.

ﬂljz&@aoaaalae szem i, | ) smal_QuilC... | B) oecuer_Ge... | (2 Chem139020.. |7} crobatread... | | ()|« 88 pwizite

It is the longest. _';I




3.

4.
The bond is nearly pure ionic.
5.
polarizing power,  polarizability
6.
increases,  decreases,  increases

decreases,  screening / shielding
7.
1200
8.
electronegativity,  symmetrical,  dipole moment

9.

10.
In the N atom, 2s orbital combines with three 2p orbitals

to form four sp3 hybridized orbitals.

One of the sp3 hybridized orbitals is occupied by a lone pair of electrons.

The other three sp3 hybridized orbitals overlap with the 1s orbital of H atoms

to form three  bonds.


sp3 hybridized orbitals consist of four lobes with tetrahedral geometry.

Due to the strong repulsion of the lone pair, the bond angle of (H–N–H is

slightly smaller than 109.50.
The molecular shape of NH3 is trigonal pyramidal.
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